
oo
< //

<  = n

==o¡
  // R

o

n�
� C\ =

∑
m1 + 2m2 + 3m3 ··· = n

[
m1 + m2 + ···

m1, m2, ···

]
o

1�−
�m1 o

2�−
�m2 ···

o �
m1 + m2 + ···−\

m1 + m2 + ···!

�n o

n�
� C\ =

∑
m1 + 2m2 + 3m3 ··· = n

[
m1 + m2 + ···

m1, m2, ···

]
�1 o

1�−
�m1 �2 o

2�−
�m2 ···

o �
m1 + m2 + ···−\

m1 + m2 + ···!

=
∑

m1 + 2m2 + 3m3 ··· = n

1

1!
�1o

1−
�

X Zm1 1

2!
�2o

2−
�

X Zm2

···
o �

m1 + m2 + ···−\
m1!m2!···

�1··�k

Y [

0

k

g
w
C \ =

∑
1 6 n 6 k

Nn
>∑

|β| = k

�σ1···�σ
β
1

Y [

0

β
1
−
g

w

X Z

=···= �σ
k + 1− βn···�σk

Y [

0

βn−
g

w

X Z
w
n−
\

�k 0

k

g
w
C \ = k!

∑
1 6 n 6 k

Nn
>∑

|β| = k

�β
1 0

β
1
−
g

w

X Z

=···= �βn 0

βn−
g

w

X Z
w
n−
\

�n

n
\\b =

∑
0 6 m 6 n

[
n
m

]
�m

m−
\

X Z

�n − m

n − m−
\bX Z


